EVALUATING MONETARY AND FISCAL POLICY
EVALUATION EXERCISE: I have given you the positive arguments for using monetary and fiscal policy with explanations.  Your job is to fill in the rest of the gaps in the negative column based on the example on inflation.

MONETARY POLICY IS GOOD!

	POSITIVE
	NEGATIVE

	ARGUMENT
	EXPLANATION

(use examples where possible)
	ARGUMENT
	EXPLANATION

(use examples where possible)

	Influences Aggregate Demand
	This is useful for managing aggregate demand and making sure the economy stays as close as possible to the LRAS.  So far the Bank of England has been considered to be doing an excellent job with stable prices and growth rates since 1997 when it took over the reins.
	Inflation
	Can lead to inflationary pressures if it is mis-handled and the Bank of England make the wrong judgement.  At the beginning of 2007, the MPC Committee had to write a letter to the Chancellor of the Exchequer explaining why they had exceeded their range of 1-3%.

	70% of the UK are homeowners
	
	Banks do not always follow interest rate changes and some homeowners are on a fixed rate
	

	It is changed every month and is flexible
	
	It can take 18 months to affect consumption and investment plans.
	

	
	
	It is a broad measure and has sometimes been called too much of a blunt instrument
	

	Independent of political influence whilst under the Bank of England’s control
	
	Government still has ultimate control, sets the inflation target and still has the power to take the power away from the Bank of England
	


FISCAL POLICY IS GOOD!
	POSITIVE
	NEGATIVE

	ARGUMENT
	EXPLANATION

(use examples where possible)
	ARGUMENT
	EXPLANATION

(use examples where possible)

	Influences Aggregate Demand
	This is useful for managing aggregate demand and making sure the economy stays as close as possible to the LRAS.  During the 1950’s and 60’s, the UK experienced near full employment and significant prosperity as a result of fiscal policy.
	Inflation
	Can lead to inflationary pressures if it is mis-handled and the Government makes the wrong decision.  For example in the 1970’s, the Barber boom was created when Anthony Barber, the then chancellor overheated the economy with excessive tax cuts and increases in Government spending

	It can help very specific areas rather than being so broad like monetary policy
	
	Inflexible – only changed once a year and political pressures make it hard to change certain measures
	

	Flexible in that Governments can just borrow money if they need to stimulate demand and run a budget deficit
	
	The budget deficit will eventually have to be paid off – these days it is politically unpopular to have one.
	


CONCLUSION:

(In a conclusion, you must answer the question directly and weigh up the arguments.  Which points do you think carry more weight and why?)

	


